| BFREAR B BT

R TS

& H it % £ E K 4 H & i
H60M 70 1 SRR 2 54 & B & A AT
H100M 10f54 Rk 2 24F S R (| FOES . g
H200M 21%54 R 2 54 & 1 f B - TRESF
H300M 34704 Rk 2 6 4F & 1 O & B - THEET
40 OM 4770 TRk 1 04F I NI Ker: FEAp
7 4770 Tk 2 6 4F & 7 % K e - TRaths
H800OM 1557789 SRk 3 04F e B Sk # BN )1
H1500M 345 6F07 k2 94 t K FHE - gy
5300 0MI[14] 85132 Rk 2 84 t W FE K FOLE . Bgyprh
H3000M 834174 S0 2 4E N O B s e
H5000M 145745854 SN 34E INAE R O R B - ke
%6 0 mJH(EN) 8708 P2 94F it & — =B SV FE  KEH
6 0mH(ER) 822 k2 34 5 % s FHE . iy
%110mH 14789 Pk 2 04 5% i ARBHES  SE (RER 18
I 14%44 TR 2 14 5 % s FHES . gy
B110mJH 14921 SRk 2 247 5 % fno# FHE . B
%40 0mH 51827 SEUPTE & m oW REE . B
H3000mSC 9432 276 5 SERR 1 14 (0T - TR E 2 NE « Bfnep
H3000mW 18434 9%10 BRI RO K P FET
S SV F AN
" S E SR s - drkrh
%54x100mR 41%01 k2 847 TR EOE T
G R FHEL . B
L—=T TLrHoA—F | =40 Bfgmdt
\ ; = e - rhdrh
HH AN %) N7
H4X400mR 34315800 TRk 2 84F TR R
i & — B SV F KR
BAEEBE 2mO0 8 TR 2 64F N i — [ZAN N
T ek 7m4 8 Rk B4R H % W N . H
T =Bk 14m10 Wk 2 84F LT TV Y=g | =46 BT
Btk (5.45K g) 15m53 Rk 1 74 B B JE FALS : Ba
Bhaa (6.0Kg) 14m6 2 (EERE k1 84 Ao A FRES : =t
Brofuk (7.26K g) 12m6 1 %1 84F BB JA FHE : G
Bk (1. 5K g) 46m44 SRk 64F NOR FE A e miE
Hom 1. 75Kg) 37m80 R 2 O4ERE WO = R )l : )R
B (2. 0K g) 36mb59 SRk 1 54E o — i EHRE
B0 # 60m4 8 Rk 84 oW kR FHES - K
BN ~e—P 40m26 SERY, T N FOE : Bk
BII\FHE (1B 52734 PRk 1 64F erk  H K FHE - JET
B\FEEiE GBriks) H18 559 75 (HERGH Rk 2 94 It & — = SWWE - RER
______ Tofsk | 3471x | @FooE | & & @ | A eRed ]
Z100M 11786 SRR 2 647 bR 7 E FHN ;T A
#200M 24%19 SRR 2 64 O O E FhN - wiprm
400M 5583 SRR 2 84 === S ;T
#800M 2450 8F1 2 S0 34E ;PN E A JIE A
Z1500M 4452 1%8 4 R0 34 X T R SV E - BEpRE
#3000M 94316875 ST A F O SV F SRR
46 OmH (8ER) 8%06 3 Rk 3 14 AN HEOBR SV E BRI
%10 0mH 13%81 SRR 2 94 AN HE R IWVW=F BRI
440 0mH 60726 BRATTE VSRR N E - SR
# A& R
7]y NIA=Y: % Bﬂ % EE %ﬁF:E : %EEFI
HAXTO0mR 4T e PIRZEE e I RE G
oot X M FRE - BFh
B ¥ B = R - w LR
AN 7]y A=y {I H g % %j]ﬂ . ﬁﬁ%ﬁaﬂqj
74X 400mR 3545876 SRk 2 54 TR A T
ol BN | SV F U
bk 1m?72 TRk 64F JIL kS A E s - et
ARk 5m75 SRR 2 84 TR B A A - b 1ha
4 =Bk 12m5 9 (HERTH) SF 34F o 2 R Ehn
AL 11m74 BRI TR S 3 =Fnd
R 38m72 BRI TR S Rl =0
100 & 40m89 SRR 2 34 N1 R e
LR 43555 SFn 3 4E RO ZE ok SV F  KJEA




